
01. 주어진 글 다음에 이어질 글의 순서로 가장 
적절한 것은?

Why do some kids become the victims of 
bullying? 

(A) For example, at one school, a girl became 
a victim because she answered a lot of 
questions in class, and a boy was bullied 
because he had an unusual hairstyle.

(B) It is common for victims to be small and 
physically weak; however, a very tall kid can 
also become a victim. Some kids become 
victims because they’re smart and others 
because they’re not smart. 

(C) Often a bully chooses someone who is 
different from the other kids. This could be a 
child with a big nose, freckles, or red hair. 
Sometimes the child has an unusual accent. 
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➁ (A)-(C)-(B)

➂ (B)-(A)-(C)
➃ (B)-(C)-(A)
➄ (C)-(B)-(A)

02. 다음 빈칸에 들어갈 말로 가장 적절한 것을 
고르시오.

When squirrels run across wires, they use 
their large bushy tails as a “balancing pole.” 
However, a squirrel’s tail has many more 
functions than just a balancing pole. If a 
squirrel falls, its tail serves as a parachute. 
Squirrels can fall more than 100 feet without 
hurting themselves. The versatile tail keeps 
the squirrel dry during rainstorms, and warm 
during cold nights, and shades the squirrel 
from the sun on hot days. A squirrel also uses 
its tail as a flag to warn other squirrels of 
imminent danger.

➀ dull
➁ interesting
➂ limited
➃ strong
➄ versatile

03. 다음 글의 밑줄 친 부분 중, 어법상 틀린 것
은?

Are zebras white with black stripes or black 
with white stripes? ➀However the answer is, 
zebra stripes are very useful things. They help 
zebras live longer. Zebra stripes break up the 
outline of its body, ➁making it difficult for a 
predator to identify it. When a zebra is ➂
alone, moving among the tall grasses of the 



plains, it looks just like wind-blown grass and 
is difficult for a predator ➃to see. A group of 
zebras will all huddle together, making it 
difficult for a predator to single out one zebra 
amid the mass of ➄moving stripes. In this 
way, zebras can survive more easily.
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